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Q.No: 1 &k 3R Teiieadl BT TG ST

A TR BT U R §

B R wro-Rueior 1 T HEwEuni SR §
c it Sifeafaa & wed T ¥

D el T 1Y & Snarel w1 R

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 2 yTI-fRieor 7 fRrmA-Tmh H1 UE Tfte §
A FH g H ot e fan <

B B BT & US § P g

c et g1 R ot & 1 Aga far s
D fovg-avg & Fiew Rl &1 3 WHHR0 HRAT
Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 3 Ty UI8! F HIfA® Yo $1 g e T &-

A 511G
B WY SRR
c IS NIER

D rPIfaTal BT WERT
Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 4 g & § o IR I &1 ©& 07 8 27
A TP YR SRIAD e 81

B TP R TP Bl B

C F fafke i &1

D Y SRIRS T Tl

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 5 "3fg-Ffea T 3 Yweumt = & I frwes Ty 9y w9 § gt 87

A S
B TR
c Tt
D faferrgr

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 6 = & § geaic &1 §BT Sexd T 87
A HfTTeral S Sudfa S
B
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SfRTHEd & YR AT
C SifFTeEdt ©f SUY AT T4 QYR @l
D Hfeal 3 it emar &1 e/ T wR g

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 7 ¥ & 9 fera1 Riard 99a S(e1ush 1 by a1 5! & # 781 3@ =gy ?
A B A AU T B Y

B BE & ¥ 3T 1 SUYTA &

c forgn & e qUIATRT 1 SR T TifeTl

D SIS P WY S TG Tl b U WRgd BT gyl

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 8 “fagr e 31 a8 fafty Rredl faarlf @1 ve Gl & wu § o o @1 e o s ¥, g8 = 3 § Bl A weamd 82

A TR fafr
B Haor fafy

C e fary
D THraTe fafy

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 9 TH U, ‘AR AGEING a1 FGIad Bidl 81 HM-11vvenreans

A SR ITHA §
B TeHd © i IR T o
c gofa: wewa @

D g vema TR

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 10 g 4w % w0 # =) W &1 gor ST 2

A &<l & IRl R SIRIGR I HAT

B e S § R= & Tmgm our S 31 &mal 1 Rem s
C o vt frem & g w e

D &t SR 3ol HITHTT & 3R Y e T

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 11 e Rigrur & siarfa Rram 1 g 53y 82

A Tl BT YT FAT

B E T TR FE

c Ural &1 STy IR S
D TRER qF BT

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 12 Hfaar-Rem & ofd ¥ TR U6 F TUH $i I 82

A FTHAITS FT AT BT

B AT & HIal A SR FRaT
C P & U T ST T

D T AR H TS BT GHIIA

Correct Ans : B
Subject : Hindi Bhasha 01
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Q.No: 13 urI-Rigmn & wf & Ffafed & § $H- ureg-Tamt 31 ITEifar 8! 82

A T Hiftre Ria $t axe TEYfY 9UR Bt B
B IoA-Yd RIES H ARfeRiT Bl ¢
C TS TH-TIRT PT TG W §, G9! & YeR AR {491 T2 & 4t 301 i 3R 9l g

D UIed Q% e 9 BT 3 IS T Aeayyl Wi §

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 14 fory fafdy & 2 3! vga urey fawa &1 qof I fem o & oiR e 0 faftrm ol 3 wefer wafi forar o @2

A e IR

B e Rt grr e
C foftrer faftrat g e
D e s de

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

A&z i fou U TRiw B vgER U T v & e SfUd SR arl fade o 99 Sifor-

79 i R o & &7 F gu liva S Qe I uikfd 31 AR & 9k W 59 319 91 99 & aR & 9 €1 5 Fue aun il S 9 Q™ &) 999 99 8
B 39 WIYRY YRR & aR ¥ off S §1 98 IHaRI 5 319 SUey I R URRIRH ok difts R eMEyEss § o9 1 9&d §, $ 83 0% SMRaN-el® 31 89 39
fo=arg & enuR W Pl & s s gt avedl € UHa § 5 Tome A7 A 3 IS W)t ol @7, Tofe U8 I Tl § iR TER-TE 9Ul AidEd wal J 719 J 99 9EER
T TP W & A au Fh-d TRt 3 O1e Raw §) W IR F stiarea sifte aurdard e S wieR i ¥ 39 e @ RiRReY 98 § 5 Geme
W1 97 W IR 9% & 379 R Fo Wi amant § 7 § 37T T IR 3 B Rl HIRE & ifoRed as Toa €1 wlawa Ta snfie, S8- gome 3§, W a0 Rehia €
T §, oM R Foug wdiaaiiRed $1 FIE SRR 7 gl

Q.No: 15 fmfifea & 3 Rifteen g & & & Gl & §RT 39 a@ 991 974g 7ol of Uk §7?

A TS T BT S|
B IR o1 sifaspR|
C TdErifeTs 9t @l
#0Optio
° odarifesy Td AR 9 @

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

=1: AR T U T Y e IR Y Al & e 3R IR A [A@ed B 90 Fifor-

70 vt Rifren fagm & & F gU Sfawa Swere-ia Wieil I oRfyd §1 e & IR R 30 S)iFT 31 99 & aR T 9Hd §1 9 Sad au uiirdi SRy A 1 AU &) 9a 9ha g
T 3% WILRU TETRies & aR & off 9 §1 78 IRl i 31 I I R IRRRE iR aifee W smuimEss ¥ 519 U 96d €, $9 TC a9 RaNFeES 8l 69 39
fmarg & enuR &R i & o smuw gt A § THa § & THme A7 F o Bis Tkl el I@T, i U8 T 81 § SR THHOR-TE aU1 AfisTd wra # 31 § 99 MR
T b A1l & R aur -t AU TRl B A o 81 18 gArRl # slierpd Siitie auidardt e B WieR b 1 1 59 edein @1 RiaRey U § & dere
AT 7 W IR T8 & I SR Fo VT emary § 5 3 3T T I & 1 gURI HIRWN & sifoRed a8 goa €1 Slavy THa i, S8- goie 1, W a0 iR 8
U €, T3 W Siauy iy &1 B SRR T8 gl

Q.No: 16 ffifead # @ &F Ju9% & A% F AfTwRe Al

A W e
B TSaE IR
c e

D A Ry

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
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=1 N fRw e T 9 ggaR O T URAl & el 3R IR a1d [wed o T $ifn-

gr el fafdre fogm & &9 & g¢ Sfava Iwiea Wisl ¥ uRiyd €1 B & 9R R 59 S iH 31 350 & IR 3 O 81 59 39% 9T DRl SRy A7 3t AU B [he 99 o
T I YR QUAERS & aR § ot S €1 9% THaR 6 89 Suesr 9 R IRRIRE ok qiRke R smgdiges d $1Y 01 96d €, $S 58 9P SARANFENS ¢l g9 59
%A & enuR R Y € oo i) gt vl § U § & G 9 9 3 BIS GoRT el 6T, Gof 98 I g1 § SR THER-wEH aur Aded ordl § g § o IuER
T e W F R qur STl T T 9 g Ra €1 3 9ERt # silierpa ofdw auidad) eReiv o Wier 5 m B 39 e=iem 31 ARy 18 § i Seme
T T W IR 98 3 S5 3k $9 T 4mand § fb 9 S T IR &4 B gARI BIRKI F Sifaiad 78 T6d 8| Siaug AHg fdl, Sh- ol 3 3, W aad-u faaia
T 8, B R Sfaqg Téamifieesd o1 $is /R 781 gl

Q.No: 17 R § § Bi-T1 Use G-I o1 I Semrw 82

A warif
B i

C AR
D AR
Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

&z Y U 7T TR B UeeR U@ T WA & TS SfUd SaiR ant fawed o 999 Sifore-

79 ol e foam & & 7 gU Ffaud Swierig Wiel 3 uRfud 81 e & dR R 59 I)IN 91 99 & R § o €1 59 J9e 91 DiRkE! SR R 9 AU @Y SHY 9 8
T 3% WIYRYT YA & TR § off S €1 98 TGN o 39 SueRr I R ARk ok qifte R omguigse I $1Y U U6d €, $E 88 IF SRANAEHS ¢l g9 39
3=y & onuR W A € oo aiue! gt avied! € W § 5 S 0 ¥ o B woRT el 9T, Gofd 0 I A ¥ SR SHER-wE aur Afgew srdl 3§ g § 90 IuER
T Uopme W F AR qur Ful-wt U Tl 9 O feun €1 O 9o B silenma ot gurdad) eRwu B Wier 5 31 39 e &1 AitaRey 18 § 5 deme
T T X5 SR I8 5 9719 orex $o THT &TaNd § [ 3 S O IR o 3 ORI DIRKIT & SffaRad a8 9Hd ¢l Biaqd AMd Sidl, - ol 0 3, T aad-101 9o &1
T g, B R Fiowg wéemiRed &1 T SRR TeI gl

Q.No: 18 fFfifea & § gfcei Wsg &1 957 Pifor-

A Eacn]
B el

o St
D HeRTeS
Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

=1 R 3T TTU TRy Y ugeR U@ Y Ul & e IR SR 9 fawey o 9 Fifi-

0 9t fufra fagm & & & gU Slovd Swrea el 9 URfd 31 e & IR | g9 95l 31 99 & aR § 4 ©1 89 S99 a1 Uil S ATl ot A5y S 999 96 3
T 3% WIYRU TOtaRiieay & aR & off a §1 98 IFaR! i 519 S I R IRRiRA iR difes R emgiingss ¥ o9 U1 9%d §, $9 56 P RANFEES 8l 69 39
T & onuR W BfER & 3T omuw! gt T € TPd § F Tome Wi A o P Taw T g, Tl 18 T T | oIR THER-E quT AiEed S J 7 ¥ 3 AR
T UpmE A F [ aur S U w9 are o €1 1 9eER) # silarpa it Turdard! eRwin B Wier 5 B 58 e &1 ARy 18 § [ Seme
AT T W IR I8 9T of R o WX &HaTU § 5 § 3% TH X o Bl gERI PIRWN & ifaRked a8 ¥od 8| Siaud AHa S, - gore I H, T dwa-J01 IR g
L E, oM R Ry RS o1 Big 9RR e gl

Q.No: 19 FHRIRET # & T© IHe AT I TH F &1 & AR WAl & e H asd § 2
A IR B TG T B R Rl a5

B 3 & SR TR
C Ugd Bt TG HIi<SHP & @B
D UEd Bl TG UIRIoH® & X6+ & A= 3 81 7 SfaRd gibe

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

&z AR T T T ®Y UgdR Up T Ul & 0ad S SaR a1 faded BT 997 Siferg-

71 1 fufore fagm & &9  gU Siawa S Sl 3 gRfed 81 FORa & OR W g9 30 31 €9 & 9R ¥ I © 1 89 I9% a1 Tl o Il Bt Iy B 993 9 g
TH 3% YR TotaRiiea & R & ot SFd §1 U8 SFeR! i 51 Suew v W IRRRA ok qifew W smgHinEss d $E U 99d §, $F 56 a9 ARANFEES 5l 69 39

fazam & enuR R R € e Sime! gt duieet § Thd & T Tehrs A7 A ofd IS el 18] 38T, Wl U8 T LT § SR THRR-E qur Afewa wHen # o1 # 99 gHRER
W e Wil & [ gur Hl-al Tu Rt @t g o €1 T8 SHERl # efsied st gurfard efein o WieR o @ 1 59 e o RitaRey 9% § & Swme
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T 7 X SR I5 P T oreR T W et € 6 § 3% O R S I eRl SRR % sifoRed o wwa € Siaud Ag snfid, 98- gue 1 H, [ aaa—T iehia §)
T €, RF R Saug Wiy B g 37K T8l gl

Q.No: 20 Frfifea # & SH-T1 I UG &1 W41 FR ST 741 87

A forema
B HTROT
c Sgga
D I

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A Hi T U T 3 dedk gy I U & I 3 IR 9 Ades o1 997 Sifki-

A I e fam & & & g ol Sworaia il 3 oRfa 81 e & IR R o0 SRiE 9 I & 9k § 9 €1 81 9w auT il SRt A B AU 3 I O 81
T 3% WYRY TodtaRiieay & R & off S 31 98 SIFeR! i 519U I R IRRiRE ok qifes W engdiFess 3 o1 U1 9%d §, $& 56 0P SRANFeHS ol 69 39
faar & enuR W R g o snuw ISt aae & e § o e 0 oF B ot el T, Tl 0% T e § iR WHaR-wE g ARwd sdl A §1a & B TARR
T W il & A au sl T It @ a1 Raw §1 3 Inert § shered siftie gurdardt eRein o Wier [ e €1 39 e o RiRdrey 98 § [ Geme
AT T W IR T 379 oR o W &mart € 5 § I T IR 3 B TR IR & sifoRad ag gwa €1 Hiawa mea snfied, $9- gue 9 §, W aw@-1u Reka @
M B, o R Ffaug wdlerdifesd &1 $13 RR 71E gl

Q.No: 21 Iufed RIS & W & SR U BT 9T Sifer-

A B9 % U1 DRET Y A 3 ABUIH B T FB 5

B T 59 faar & onuR W P € o s gt au € S & b b Il | o BIS Wt T e, b 9 W e B
C 71 T o wodieraifeey & Ak & A W §

D 7 it Rifre foam & & ® 5u shug sweia @il @ uitka )

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

=T - T 1T Tenw Y UgaR U T AT & e SR I aid faded T 9g Siferg-

79 i i fiam & 83 § gU faug Se-ig diel 3 uRRE §1 e & dR R 59 IR0 31 99 F R & 9 €1 50 Jue au1 hikE! S A 9 A &) 9Ag 9hd 8
T 3N WIYRY WUAEEREd & aR ¥ oft SIFd €1 98 IFeR i 5 Suey I R URRIRE ok qifde R ergHiges @ $19 U1 Uad §, $O 88 0P SRANG-CH® 5l g9 59
faxarg F enyR W P € oo Siue! St duweh < T § 1 TshmE I A o HIg GaT G XeT, Aol U8 U e ¥ ofR THaR-UE qu1 Aiwd el § o # B ¥ER
T U I F AR qur suli-weft T s o O feara €1 38 9AERl # efliengd ot gurdard) eeiv o Wier T B 39 eie 31 iRy 18 § 5 Ieme
T T W IR 5 B 7% ok $o WX &t € P A SR O R 3 Y Rl SR ¥ sifoRan v I 1 wlaug we s, $9- gee I 8, U8 aa-Tu faslia @)
T €, B R Ffowg Tarifiesy o1 $is 3[R el gl

Q.No: 22 f=ffaa & ¥ T Rifsear wra’ &1 sFd T wiran 87

A fRudigreg
B W T
C TSaE R
D cal

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A& P 31 ugER P U URA & g6 SR SaR 9 fasdd #1799 Hifere-

W AT F TP 0N DY
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FRARBY,
Farsl o -

L2 G E

R T & WS I,
4l 3fge A,

Q.No: 23 1% # I Iuged fdadl & rgar &1 4 dadse-
A 3 Aot

B TRt Rig fEmaw

c T FIR e

D TgTedt 9E

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

R S F UgHR IP T U F 9ed IRd SR a1 fabed o 99 Siiie-

TR T & YIB! &0 Bl
TAARTA,
s o -
T R

TR §eU & 3ET 3,
9t 3fgq e,
FwRH

Wit % Sie I /AT R
=% A A g,

IR ... IR i el &1
WWWNEE

Hfafer HeRaT TR gan,
SR g Hfave,

Y T~ |l
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Q.No: 24 FERIAT & § whrea & o6 @ 82

A SRR

B HEHT BT I
C SUSR

D Ketiiv]

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

& P i TgER IR T UK & 999 SR SaR 91 fAwed &1 79 Fifvie-

W AT P THIB! &1 Bl
FAARTD,
Faral d -

i GUoIER:E)

R TC9 & 3T SIS,
! 3FEE I,

R

Q.No: 25 guded dfekrat & fe § ¥ v ey o1 v =1t foar wmarm @2

A T
B 3gg
C Issad
D dred

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

AT DI B UgdR UP T U=Al & Ha Sid SR I fadbed BT 997 difore-
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4 fier 81 ge way ,

Y T & UL &7 P
TRAARTE,
qaref l -

L GULIER

TR BT & SRS ST,
1 3FRT I,

FRA

aftar ..

it g wiet R wa @
TE A AT,

IR ... 7R P o Bt
WTWWRWE
SifaferT HeRaT TR ge,
T goHT SR,

QY SHeHT- 9T

Q.No: 26 fAH & ¥ -1 Ioad o [Jan sg 22

A it
B o
C TSI
D wga

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

P& DI B TgaR I T YA F a9 IR SR ardl [adbed &1 9o Pifve-

R A ¥ gl &l
TARA RIS,
qareil i -

T T ¥ 5

R §eT & ST TG,
@ 3Ffe TR,
FRE

afidr..

iift g diell we e Wi
TE A AT,

AR ... % Pagd & 1
W@
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Q.No: 27 FefifEd 3 A Pder § Sa-@i v g 2
A oy Iy

B < 9y
C o7 Y
D i ufy

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

& ST Sl UgaR YR T U & 969 Sfd IaR ard faded $1 99 Hifere-

R T & TpI! &0l B
TN RTBE,
EGIEIGIS

] I R IR

R g8 & A 3,
4l 3Fg e,

R

aftdr ..

Wf g8 At T RI @ R
TE g AT,

IR ... TR Py ol Bt
WIWIRWTIE
Sifaferd Hree T gal,
TRYAT T SHfaxed,

Y SiEl- 91

Q.No: 28 = # § H1H-91 W% 31faRa H1 vafaard ueg =76 82
A sifafsa

B R
C quferdt
D e

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

A P F Ugek IR T U F Ge IR IR a1l fabed &1 9u Fifo-
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W AT F TS &0 B
WAARRED,

qaref dl -

Eetun kR E
R g F 3T SIS,
9l 3FgE g ,

TR

afta ..

firht g% Sl A A R
TE AT,

R ... 3R Frg el 51
WWWRWE

SHfafdd HeRar WRATATr gafl,

RYAT 3T 3R,

Y el

Q.No: 29
A
B
C
D

1

Frefafee ¥ ¥ $1F-91 Wsg U BT JGRT HR §411 T4 52

gerar
R

ol
YHIRIBT

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 30
A
B
C
D

SHEATIH BT HHAI B IUgad ST IR 1 H Heg g1 Bl ?
T BV T T P AT FA

=t o) Fnfa s

T BT GRAT FT 1T &

Tl D) AT BT HIE 11

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 31
2467187

A number added to two-thirds of itself gives a result of 150. What is the number?

TP GBI DY 9P al-fagrE § e W 150 o1 afkund firedr 31 9 e @1 82
60

60
75

75
80
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80
20

90
Correct Ans : D

Subject : Mathematics

Q.No: 32 After 42 years a man will be thrice of his present age. Find his present age in years.

2467304
42 9 91 U AR B S SO FAHM 1Y BT o T Sl | IUDT I g 9ol & Jrd Hiferl
30
A
30
20
B
20
21
c
21
22
D
22

Correct Ans : C

Subject : Mathematics

Q.No: 33 The average age of 5 students is 6 years. Another boy who is 12 years old joins, then what will be the average age in years?
2467369

5 B 31 3 oY 6 TY ¢l TP 3 TSPI ol 12 TN Pl § NoTHet g1 9, O SiGd g aut & o1 grire

6
A

6

7
B

7

5
C

5

8
D

8

Correct Ans : B

Subject : Mathematics

Q.No: 34 Udhav is 20 years older than Madhav. 12 years ago Udhav's age was twice the age of Madhav. What is the present age of Madhav in year?
2467403

34q, Med 9 20 79 937 81 12 I Ugd Iug Bt SH WIYG B SY B g A G B IGAE 39 a6 F 7 31

28
A
28
B 32
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32

30
C

30

35
D

35

Correct Ans : B

Subject : Mathematics

Q.No: 35 The length and breadth of a wall are 60 cm and 40 cm respectively. Find the ratio of the length and breadth of the wall.
2467417

TF AR F darE IR ST A 60 Jh iR 40 I ¥ HAR B TS SR DS 1 U [ BRI

13:12
A
13:12
4:3
B
4:3
]
C
3:2
3:1
D
3:1

Correct Ans : C

Subject : Mathematics

Q.No: 36 Find the mean proportion between 4 and 16.

2467434
4 3R 16 ¥ $T FeOmUR 1T BT
4
A
4
B
8
10
c
10
16
D
16

Correct Ans : B

Subject : Mathematics

Q.No: 37 A cube of side 5 cm is cut into 1 cm cubes. What is the ratio of the surface areas of the original cubes and cut-out cubes?
2467555
5 It o A1 TF 91 H 1 I F o F Fel I §1 99 97 SR e g F AABal BT U 11 52
A 1:3
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1:4
B

1:4

1:5
C

1:5

1:7
D

1:7

Correct Ans : C

Subject : Mathematics

Q.No: 38 The base of a triangle is 15 cm and its height is 12 cm. What is the height of a new triangle whose area is double of the given triangle and base is

2467620 50 cm?

TF Y &1 3R 15 I § 3R 39! Surg 12 Ift B1 o ¢ Py a9t g 71 § et &wd feu MU Ay &1 S § SR iR 20 I 82

9 cm
A
o It
18 cm
B
18 &t
8 cm
C
8 it
12.5cm
D
12.5 5t

Correct Ans : B

Subject : Mathematics

Q.No: 39 The roots of the quadratic equation 2x* + 3x — 20 = 0 are:

2467709
feomd Teieur 2x2 + 3% — 20 = 0 H A &
5
4,2
A
5
4,5
4,-2
B
4,-2
8, -5
C
8,-5
D -8, 5
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-8, 5
Correct Ans : A

Subject : Mathematics

Q.No: 40 For which of the following values of k Will 3x + (k + 3)y = 1 and kx + 6y = 4 have a unique solution?
2467744

k ¥ Fofofed & 3 59 79 $ 1T 3x + (k + 3)y = 1 3R kx + 6y = 4 1 TP e ga gwme

3
A

3

-6
B

-6

6
C

6

Any value except 3 and -6
D

3 3R -6 P BIgHR PSR AR

Correct Ans : D

Subject : Mathematics

Q.No: 41 O 15 the incentre of AABC and £A =30°, then ZBOC is:
2468119

O AABC @1 3 35 § 3R £A =30°, Tl LBOC &

100°
A

100°

105¢
B

105°

110°
C

110°

90°
D

90°

Correct Ans : B

Subject : Mathematics

24%22%21 An angle is 90° less than twice its supplementary angle. The measure of the angle is:

U DIV S{0 TR BHIUT b S H 90° H & | DI BT HIY g:

90°
A
90°
B 50°
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50°

60°
c

60°

30°
D

30°

Correct Ans : A

Subject : Mathematics

Q.No: 43 Simplify:

2468283
PRI T N
& <) x0)
13 7 2

3

WA DL

@G <@

13
7

~ |5

~1 |

~3 | k>

G-

RN

BN

Correct Ans : C

Subject : Mathematics

Q.No: 44  As per NCF, Mathematics involves a particular way of thinking and reasoning. Then which of the following statement is incorrect regarding the given
2468427 principle?

T1..0% S SER, T & G 3R aF B B U 39w et it ®1 A Ru e Rigia % e & g & @ B W1 By Terd 82

The activities and exercise should be according to the classroom

A
Tl ol e e & SrER B AIeY
The presentation of materials according to textbooks
B
UISIYEHT & SFUR WARE P gl
C Give the students formulae to solve the numerical questions
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BHE! B TS W4l B g B & R @ &
The method by which it is taught.

5 faft Rress g1 7% fRvaman o @

Correct Ans : C

Subject : Mathematics

Q.No: 45 Why are Roman numerals not commonly used in writing numbers like the Hindu-Arabic numerals?

2468522

W St BT ITANT AR W ferg-ore sl SRt Gemell & o= & it =21 o wram?

Roman numerals are difficult to remember.
A

AT it P TG BT R 3

The formation of numbers using Roman numerals is a complicated task.
B

AT St T ST b TGO P FHT T Wifed B 1

Children get confused with the English alphabet and Roman numerals.
C

T SR qufmren iR JAn st F U 8 W

The Roman numerals do not employ place value, so calculations are difficult to perform using these numerals.
D

A7 3ie T A 1 RIS I8 R4 §, SR 3§ ST BT STENT FRb TUFT Bl GfRpel gierl 2

Correct Ans : D

Subject : Mathematics

Q.No: 46 The ratio of 3 years 9 months to 1 year 3 months is:

2469647

39 o T ¥ 1 o 3 A FT U 7

3:2
A

3:2

1:2
B

1:2

3:1
Cc

3:1

4:1
D

4:1

Correct Ans : C

Subject : Mathematics

Q.No: 47  Find the value of p for whichx + pisa factorof x*+px+3 —p.
2469939

p BT dg HIF 1T DIoTY FoIIe AT x + p, x2 + px + 3 —p BT UFGS B

1

1
B -3
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-3

-1
C

-1

3
D

3

Correct Ans : D

Subject : Mathematics

Q.No: 48 The locate specific learning and instructional difficulties is the main aim of

2475618
faRiy siftpm ofR P wTeTd Sio-Tgal &1 al @ &1 goT %4 §

A Prognosis
AR

B Comparison
gl

c Diagnosis

D Prediction

Correct Ans : A

Subject : Mathematics

Q.No: 49 which of the following is not an audio visual aid in mathematical teaching?

2475620
frofafed & & o find Rieor & exg-yer gerd 6l 8?2
A Black board
D WS
B Film strips
C h(l‘odels
Hisd
D Radio

Correct Ans : D

Subject : Mathematics

Q.No: 50 The objective (s) of questioning is/are

2475898
IS FI L /%
to motivate the pupils
A Rl ) i e
to create interest and curiosity
° 3 IR o fa1
- to test the previous knowledge

fred I &1 wer T

All of the given options

R Ry af Rew
Correct Ans : D

Subject : Mathematics

Q.No: 51  Students often make a mistake in comparing the decimal numbers. For example 0.50 is larger than 0.5. The most probable reason for this error is

2476026 BT SRR GIATT TS B a1 B H Ted! 4 § 1 IIeR0T & T 0.50 §T7 0.5 ¥ | 39 IR &1 Fa9 THId SR §
misconception regarding the significance of zero in ordering decimal
A YT $H § YA S A S aR § Tad YyRon
lack of practice of these types of questions in the class
° Pl H T4 UBR & Ul & 3pary ot HHI
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C lack of concrete experience of representation of decimal number on number line

TR TS B T I€M R AT FA & SN ATHT BT UG

careless attempt by the students
B FT ARATE TN

Correct Ans : A

D

Subject : Mathematics

Q.No: 52 Which two numbers should be interchanged to make the given equation correct?

2479416
4x6-8+4+3=16
feu U TR $1 W6 S F R e < gemeht i ey # 9een e aifeu?
4x6-8+4+3=16
4 and 8
A
43R 8
8 and 3
B
8 3R 3
6 and 3
C
6 3R 3
6 and 4
D
6 3R 4

Correct Ans : C

Subject : Mathematics

(224'\18%9%31 If4*2@3=06,18 * 6 @ 4= 12, then what will be the value of 24 * 3 @ 7?

A4 2 @3=6,18*%6@4=12, 24 * 3 @ 7 TF 1 57

21
A

21

27
B

27

72
C

72

56
D

56

Correct Ans : D

Subject : Mathematics

Q.No: 54 To put ideas together to form a new whole is

2481757
faaR! ) t& Ay s @ a1 9 9 © -

A Eva}uation
P RICE]
Synthesis

B
RRGRW
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C Analysis
Toreror
D Application

Correct Ans : B

Subject : Mathematics

Q.No: 55 One of the advantages of the Heuristic method is......

2482369

hfes A vrdl A 0w 3.

it is teacher centered
A

75 e SR

it places the pupil in the place of an investigator
® T T F TP 9P F WH W TG §

it involves more blackboard work
C

T ofie SAHaIS S A §
D it is easy to complete the given lesson in less time.

2T 10 UTS B FH AT T I BAT EH B
Correct Ans : B

Subject : Mathematics

Q.No: 56 The ‘Theme’ of 39th Jawaharlal Nehru national Exhibition for Science and Environmental Education for Children 2012 is
2482376

famm ofR waiaRor & fow 304 SHRRa To AP Tei Bt o S F fom Rem 2012 ®

Science, Society, Environment

A o, WIS, waiaRo
Science and technology for human welfare
® TFE Feamn & g g ok deifat
science agriculture and industry
c o o o i
D science and technology for global sustenance
¥Ffog B

Correct Ans : A

Subject : Mathematics

Q.No: 57  Which scale of measurement is also known as equalunet scale.

2482459
9 & 59 99 6 3Hie Wd & A F off S S 2
Interval Scale
8 e
Ratio Scale
B
3T S
Percentage Scale
c o S
D Ordinal Scale
PAYTD Wl

Correct Ans : A

Subject : Mathematics

Q.No: 58 Recording of the project means

2482687
gREeT 3 ReTen &1 o §
A when the project is completed the teacher and the children should evaluate it jointly discussed whether the objectives of the project
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 19/54
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have been achieved or not.
e aRkEerT I € R & o e SR I 3 31 RiE Sl AT SR e T § Tl St a1t i ufdiem & Sl at i fmm wan € @ @i

while choosing a problem teacher should stimulate discussions by making suggestions. The proposed project should be according to
the rear need of students. The purpose of the project should be well defined and understood by the children.

TR BT T HRd G &5 Y YA SR 91 B! Welfed 1 Ao | Fifaa gRareH SEl 31 s sawadsal & SguR et 9ot uRGeHT ST 9539 o=l gRIT
et TR & uRenfa ofR Fmgm ST IRy

for the success of the project, planning of project is very import. The children should plan out the project under the guidance of their
teacher.

RS T haar $ 1T uREGSHT BT GSFT ST 989 AUl ¢ | S B Sun e $ ARfex A ufkaieFT #t dieFn ST 91Tl

the children maintain a complete record of the project work. While recording the project some points like how the project was
planned, what discussion were made, how duties were assigned, hot it was evaluate etc. should be kept in mind.

T= uREeT B &1 R RerS W& €1 Uk Bl Rels wia 99 o figell o uRasHT Bt die $9 51 18, 7 == Bt 7, Sl S $ Wiar @i, g9t
Teaier S o T anfe; Y e W <ar o =Ryl

Correct Ans : D

Subject : Mathematics

Q.No: 59
2482722

D

Purpose of evaluative phase of teaching is:

e & Ui RO FT I &

To know to what extent objectives are realized
7 I & g 5 v o2 7 Sl 9wt gkt @

To know the shortcoming of the teacher

Rigre 3 w5t S F g

To know the effectiveness of strategies
Torfferl 3 srTaiern s & fRi

All of the given option

o o fawe

Correct Ans : D

Subject : Mathematics

Q.No: 60
2483798

D

In an examination A gets 10% marks less than B and B gets 25% marks more than C and C gets 20% marks less than D. If A gets 270 marks in
500 then D get-

ot udler & A 651 B B 3108 10% HH 3 fBIdl, B B C Bt 30T 25% ifF 3@ B 3R C &1 D 3T e 20% $H 3% | afd A H1 500 F F 270 8 e
D F! farem ufo=ra siw ot

40%
40%
50%
50%
45%
45%
60%
60%

Correct Ans : D

Subject : Mathematics

sz‘.‘NGOQ:SBSIO In which of the cities, the Indian Institute of Petroleum has recently established a plant to convert plastic waste into diesel:
YR Feiferan S 7 g & F 5w IR # wifed TR @ o § gqem & i ue waa wifda e 3
Lucknow
A
TS
Ranchi
B
Rl
C Surat
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”a

Dehradun

I

Correct Ans : D

Subject : Environmental Study

Q.No: 62 If a teacher wants to sensitize her students about the conservation of trees, which of the following would be the most appropriate strategy
2470516

T e 3R S B B TS & TRe01 F Ui Wde=id S gal § o ol # ¥ waifie Suged wris o @ et

Debate in class

A
F&T H 59 SRR HXA
Group Discussion
B
g &
Poster making
C
TR T
Helping children to adopt and nurture a plant
D

T P TP WY Bl 3TN 3R i+ § Heg FT

Correct Ans : D

Subject : Environmental Study

Q.No: 63 For optimum output from domestic animals (cattles) . and are required in the shelter for their overall growth and
2470538 performance.

TR T3 (A=) § 3FaH Ided & g / 3R BT I T9Y [P IR Uex[ & e onspy F sia<as g
Entertainment, food and comfort bed
A
TR, HISH 3R SIRMRE R
Space, feed and water
B
RIM, TRIR TR
Open area, toys and water
C
o &7, f{an ok urit
Food, blanket and toys
D

HIoH, Pad iR Fam
Correct Ans : B

Subject : Environmental Study

Q.No: 64 The type of housing which is most suited for temperate regions, as it protects the animals from heavy snowfall, rains and strong winds. This type of
2470539 housing is called as

AN BT YR o GERidre &t & e 9ed Sugad v, e a8 Tl &) Uit fRuurd, SRS SR O g § 9911 §1 39 UOR & 3G &t BRI
Bl
A Open housing system
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3 greRiT R

Loose housing system

B

2l SaT vt

Conventional housing system
C

URURS AT Forreht

Counter housing system
D

B TIRRIT Renw
Correct Ans : C

Subject : Environmental Study

Q.No: 65 Name the type of housing system where the animals are tied in the shed in opposite direction. The cleaning of sheds and milking of cows is easy and
2470540 chances of disease transmission from animal to animal are also reduced.

AT G & 39 USR FT 1 a13¢ orgd et $ fawia i3z & s & aien o 31 T 3t qerg SR T 1 g ge-1 39 o iR ug § o & I W=R0r &t
FHraAT off € Sl ]

Tail-to-tail system of housing

A
AN B 4P A Ug yoedt
Head-to-head system of housing
B
T P TS-g-7S WOl
Open housing system
C
3o grafiT Rywen
Loose housing system
D

Il SHE WOt

Correct Ans : A

Subject : Environmental Study

Q.No: 66 Which of following does represents Child killing and anti-patriotism?

2472581
1A g1 U et Herare, e & & a5 g qufar g2
Cultural relativity
A
HRepleres Arderdr
Ethnicity
B
STt
Cultural pluralism
C
repla® qgeaa
Cultural selection
D

Rpla® Tg7
Correct Ans : A

Subject : Environmental Study
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Q.No: 67 In which year did the government ban female feticide by making on act?

2472611

HT YU TN ) PR A b a9 Siffem s ufasfia e

2004
A

2004

2006
B

2006

2008
C

2008

2003
D

2003

Correct Ans : C

Subject : Environmental Study

Q.No: 68 What is the symbol for salt?

2472921
TS T B-
Nacl

A
Nacl
CH12Cs

B
CeH12Cs
HO

C
HO
COa

D
CO>

Correct Ans : A

Subject : Environmental Study

Q.No: 69 In which year was vitamin A discovered?

2472998
faeiftm A 31 @ 5 v 8§ 351 152
1910
A
1910
1913
B
1913
1914
C
1914
D 1915
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 23/54

Page - 23



1915
Correct Ans : B

Subject : Environmental Study

Q.No: 70 Since which year is World Space Week observed?

2473915
fay siafver g 5w af § w=man S 32
1990
A
1990
1995
B
1995
1999
C
1999
2004
D
2004

Correct Ans : C

Subject : Environmental Study

Q.No: 71 Which Indian scientist is known as a specialist in Aerodynamics and Aerospace Design?
2473991

e URd AT 1 argriaet Sk TN 3o & vy & w9 | S 9 82

Arun Pillai
A

o0 oS

Hima Kohli
B

T ot

Aastha Soni
C

STRT T

Tumkur Seetharamaiah Prahlad
D

TAFR HARA TETS
Correct Ans : D

Subject : Environmental Study

Q.No: 72 Which of the following is the world’s first wooden satellite?

2474002
frafefed § 3 o1 Ay o1 9em aHS! T ITE 82
VISA woodsat
A
VISA gsdc
WISA woodsat
B
WISA g8de
C NOSA Woodsat
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NOSA gsde

DRAM Woodsat

DRAM Fsdc

Correct Ans : B

Subject : Environmental Study

Q.No: 73 The biggest moon of our solar system is:

2474128
BAR IR 7S BT T ST 5 8
Europa
A
Sl
Ganymede
B
s
Titan
C
A
Callisto
D
Egi |

Correct Ans : B

Subject : Environmental Study

Q.No: 74 What kind of Missile is Agni-5?

2474215
-5 59 yeR 3 R 82
Surface-to-air Missile
A
g ¥ g1 § AR B el e
Long Range Surface-to-Surface Ballistic Missile
B
et g 1 e TS W AR e A e R
Submarine Launched Ballistic Missile
C
T A i 9 Sffes e
Air-to-air Missile
D

7419 g4l # AR PR arelt forrsa
Correct Ans : B

Subject : Environmental Study

Q.No: 75 Which of the following missions is the first “private astronaut mission” to a space station?
2474220

Fofafea & 3 o1 1 e sialke ®F & fow ggar "okt siafer aeh fawmr 82

BRIOM 1
A
BRIOM 1
B ACIOM 1
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ACIOM 1

AXIOM 1
C

AXIOM 1

CRIOM 1
D

CRIOM 1

Correct Ans : C

Subject : Environmental Study

Q.No: 76 Which galaxy is headed toward the Milky Way for a possible future collision?

2474246
1 & WG oy & RIT H1F A repreni, el § Spranim @t 3R §¢ W& 82
Cannis Major dwarf galaxy
A
S FeR g ARt
Andromeda galaxy
B
TSHST ST
Cygnus A galaxy
C
Ry T SRR
Virgo A galaxy
D

T T SIBTRRT
Correct Ans : B

Subject : Environmental Study

Q.No: 77 is the largest producer as well as the consumer of pulses in the world.
2475827

T B STl T YaY 991 SAIed o & WIy-ry Ui oft 31

India
A

HRA

China
B

Gkl

USA
C

SERIPT

Russia
D

k3l

Correct Ans : A

Subject : Environmental Study

Q.No: 78 Which among the following personalities’ birthday is celebrated as Youth day?
2476399

fafafed & 3 fow wftaa & =" 3 ga1 Gaw & w0 & 71 o 82
A Swami Vivekananda
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wH e

Netaji Subhash Chandra Bose

B

el YHIY 9% SN

Mahatma Gandhi
C

T i)

Lala Lajpat Rai
D

GISIGISECEIR]
Correct Ans : A

Subject : Environmental Study

Q.No: 79 Which is the first country to host the Asian games?
2476501

RS Qo B Ao B aTeT Ugal S S 9 8?2

China
A

Gk

Japan
B

SICIE]

Korea
C

Pt

India
D

HRA

Correct Ans : D

Subject : Environmental Study

Q.No: 80 The first folding chess was invented by a-

2476559
TYH T8 kol Bl SMAWPR fbges gRT fobar T ur?
Librarian
A
QKIDIeTTHE]
Priest
B
Tt
Accountant
C
AEHR
Lawyer
D
G

Correct Ans : B

Subject : Environmental Study

Q.No: 81 Which one of the following options is the most appropriate in relation to the observational method?
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2477167
sfaarp fafy & Tay & Foffa # ¥ $ 1 Rew 99 3w 82

Some students are not able to observe properly

A
po g gt & Piflem T s U §
Less time consuming
B
FH GG O a1
Students make observation and acquires permanent and true knowledge
Cc
BT SIS FRA § AR W IR T I W HRA §
Students perform the experiment properly
D

feremef i Y Wl ST A A §

Correct Ans : C

Subject : Environmental Study

Q.No: 82 Which of the following are the traditional methods of lesson planning?
2477194

1. Herbartian approach

2. Evaluation approach

3. Project approach

Choose the correct code -

frafafad § & -9 uie goier 3 uRuf faftaf §2
1. gefiféa i

2. e eReI

3. ufdiemT e

T IS I -

Only 1 and 2

Fad 1 9R 2
Only 2 and 3

Faa 2 3R 3
Only 1 and 3

Paa 1 3R 3
1,2and 3

1,238R3
Correct Ans : D

Subject : Environmental Study

Q.No: 83 Use of sources in the teaching of environmental science creates a sense of:
2477237

qaiaRu fagF & e 7 Wil o1 Iua Fafifad @t ureer deT B g

Vividness and Reality

Sidaan @R arafdar

B Dissatisfaction
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SRS

Improper interest

o
fa
Artificiality

D
phAT

Correct Ans : A

Subject : Environmental Study

Q.No: 84 Which of the following is not a function of facilitator in group discussion?

2477290
fofifaa & & o uieef & Sarem o orf 76 82
Act as a consultant to the groups and help
A
TRl & UAEPR & WU H B P AR HEG BY
Ask “why"” or “how” questions and for short answers ask students to elaborate.
B
I A ST I IS SR Twofiw ST & g ol 9 fiwd v & R a8
Select only one leader from the group
C
T ¥ Faq TP a1 B 997 HY
Provide positive feedback for participation.
D

yrfier & fiT YeRe® ufafrar &

Correct Ans : C

Subject : Environmental Study

Q.No: 85 Which of the following is the drawback of Demonstrative method?

2477364

frafafea & 3 S5 W vz usfl #1dw &2

There is compulsion for the learners to perform experiment when teacher demonstrates
A

e w1 veiRia fF o w Rieniar & g wai e ST aRa §

Learners are not allowed to handle the equipment used in demonstration
B

et 1 wesiA § T SUSRUI! P U P Al T

Language of demonstration should be english only according to the rule
C

WesH Bt W1 FaargeR st B =ity

Students cannot ask any questions while the teacher demonstrates
D

TRierep R WERiT P 91 T OF P18 94 T8 UP 9bd §

Correct Ans : B

Subject : Environmental Study

Q.No: 86 The Hyogo Framework for Action (HFA) was the global blueprint for disaster risk reduction efforts between -
2477906

i) ThHad BR TR (T9.0%.T.), ¥F 9 el SRW F9 T3 F TR & Rig 3fye @ o -
A 1990 and 2000
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1990 3R 2000
1995 and 2005

B
1995 3R 2005
2000 and 2010
C
2000 3R 2010
2005 and 2015
D

2005 3R 2015
Correct Ans : D

Subject : Environmental Study

Q.No: 87 In teachers may suggest resources and learners may learn at home using ICT for instance by using a video.
2478560

T e, AT 1 YT & TP 3 9MR Rrendf Gaar vd TR Wit o1 SuhhT w3 R R URI 9Hd 8, Ia1eR0 & g 4 o1 sudn

Blended learning

A
fafira womedt e (=SS affm)
Flipped classroom

B
et AT (RS Femeed)
Distributed learning

C
et e (RfEsges wim)
Conventional teaching

D

yRuRa e
Correct Ans : B

Subject : Environmental Study

Q.No: 88 A teacher while passing through a school-corridor observes a group of children skipping classes. He scolds them and asks them to go to the class.
2478660 The next day the teacher goes to the same spot a few times to ensure whether the group is skipping classes again or not. Which of the following

assessing tools is the teacher employing?
1.Purposive Observation
2.Incidental Observation

Choose the correct code -

T R1eih THa-TER ¥ ToRG THY T2 & UE W B H& B1Sd gU 30d ¢ 98 3% Sied ¢ o oarg § O &1 #gd 81 3 o Rieres a5 gifda o7 & frg St

RIA R $3 IR 10 ¢ 1 998 R § Fansht o1 815 w1 & a1 7611 Faiifed ¥ 3 o 91 o1 Iuaor Rige i 3= @ 82
1.35xaqul Siaeie

2.3 SHaaie

T Pl T -

Only 1

Fad 1
Only 2

Fad 2

C Neither 1 nor 2
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Ad 1L ARAER 2
Both 1 and 2

aFl 18R 2

Correct Ans : D

Subject : Environmental Study

Q.No: 89  Which of the following is NOT a visual TLM (Teaching Learning Material)?

2478687
frafufaa ¥ 3 99 U Ty 9.ua. . (s st arl) e 82
Magazine
A
LiEEa]
Case studies
B
=
Supplementary books
c
RS fHame
Radio broadcast
D

& TR

Correct Ans : D

Subject : Environmental Study

Q.No: 90 of any aspect of an object or phenomenon is its quantitative description.
2478730
foeit awg a1 v & ot oft wgq 1 IGPT EES fIaw B
Evaluation
A
Tl
Assessment
B
Th T
Measurement
C
k1)
Tests
D
TRieor

Correct Ans : C

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.
A traveller on the dusty road

Strewed acorns on the lea;

And one took root and sprouted up,

And grew into a tree.
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Love sought its shade, at evening time,
To breathe his early vows;

And age was pleased, in heats of noon,
To bask beneath its boughs;

The dormouse loved its dangling twigs,
The birds sweet music bore;

It stood a glory in its place,

A blessing evermore.

A little spring had lost its way

Amid the grass and fern,

A passing stranger scooped a well
Where weary men might turn;

He walled it in, and hung with care

A ladle at the brink;

He thought not of the deed he did,

But judged that all might drink.

He paused again, and lo! the well,

By summer never dried,

Had cooled ten thousand parching tongues

And saved a life beside.

Q.No: 91 Which of the following is the most suitable title for the given poem?

A loyalty with rewards

B uncertainties of life

C the small beginnings

D life and death of the poor

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
A traveller on the dusty road

Strewed acorns on the lea;

And one took root and sprouted up,
And grew into a tree.

Love sought its shade, at evening time,
To breathe his early vows;

And age was pleased, in heats of noon,
To bask beneath its boughs;

The dormouse loved its dangling twigs,
The birds sweet music bore;

It stood a glory in its place,

A blessing evermore.

A little spring had lost its way

Amid the grass and fern,

A passing stranger scooped a well
Where weary men might turn;

He walled it in, and hung with care
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A ladle at the brink;

He thought not of the deed he did,

But judged that all might drink.

He paused again, and lo! the well,

By summer never dried,

Had cooled ten thousand parching tongues

And saved a life beside.

Q.No: 92 ‘He thought not of the deed he did. Whom does the poet talk about in the given line of the poem?

A about his lover

B about his neighbour
C about himself

D about a stranger

Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

A traveller on the dusty road

Strewed acorns on the lea;

And one took root and sprouted up,
And grew into a tree.

Love sought its shade, at evening time,
To breathe his early vows;

And age was pleased, in heats of noon,
To bask beneath its boughs;

The dormouse loved its dangling twigs,
The birds sweet music bore;

It stood a glory in its place,

A blessing evermore.

A little spring had lost its way

Amid the grass and fern,

A passing stranger scooped a well
Where weary men might turn;

He walled it in, and hung with care

A ladle at the brink;

He thought not of the deed he did,

But judged that all might drink.

He paused again, and lo! the well,

By summer never dried,

Had cooled ten thousand parching tongues

And saved a life beside.

Q.No: 93 “And saved a life beside’. Which part of speech is the word ‘beside’ in the given line of the poem?

A adverb

B preposition
C intensifier
D determiner
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Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

A traveller on the dusty road

Strewed acorns on the lea;

And one took root and sprouted up,
And grew into a tree.

Love sought its shade, at evening time,
To breathe his early vows;

And age was pleased, in heats of noon,
To bask beneath its boughs;

The dormouse loved its dangling twigs,
The birds sweet music bore;

It stood a glory in its place,

A blessing evermore.

A little spring had lost its way

Amid the grass and fern,

A passing stranger scooped a well
Where weary men might turn;

He walled it in, and hung with care

A ladle at the brink;

He thought not of the deed he did,

But judged that all might drink.

He paused again, and lo! the well,

By summer never dried,

Had cooled ten thousand parching tongues

And saved a life beside.

Q.No: 94 What does the word ‘vows’ mean in the given poem?
A to do something in a certain manner

B the quality of being honest and straightforward
C indirect ways of expressing something

D powerfully persuasive

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

A traveller on the dusty road

Strewed acorns on the lea;

And one took root and sprouted up,

And grew into a tree.

Love sought its shade, at evening time,

To breathe his early vows;

And age was pleased, in heats of noon,

To bask beneath its boughs;
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The dormouse loved its dangling twigs,
The birds sweet music bore;

It stood a glory in its place,

A blessing evermore.

A little spring had lost its way
Amid the grass and fern,

A passing stranger scooped a well
Where weary men might turn;

He walled it in, and hung with care
A ladle at the brink;

He thought not of the deed he did,
But judged that all might drink.

He paused again, and lo! the well,

By summer never dried,

Had cooled ten thousand parching tongues

And saved a life beside.

Q.No: 95 Which of the following is nearest in meaning to the word ‘brink’ in the poem?

A center
B inside
C error
D verge

Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.

A traveller on the dusty road

Strewed acorns on the lea;

And one took root and sprouted up,
And grew into a tree.

Love sought its shade, at evening time,
To breathe his early vows;

And age was pleased, in heats of noon,
To bask beneath its boughs;

The dormouse loved its dangling twigs,
The birds sweet music bore;

It stood a glory in its place,

A blessing evermore.

A little spring had lost its way

Amid the grass and fern,

A passing stranger scooped a well
Where weary men might turn;

He walled it in, and hung with care

A ladle at the brink;

He thought not of the deed he did,

But judged that all might drink.

He paused again, and lo! the well,
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By summer never dried,
Had cooled ten thousand parching tongues

And saved a life beside.

Q.No: 96 By summer never dried’. Which of the following is opposite in meaning to the word ‘dried’?

A hard

B shallow
C bare

D wet

Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
A traveller on the dusty road

Strewed acorns on the lea;

And one took root and sprouted up,
And grew into a tree.

Love sought its shade, at evening time,
To breathe his early vows;

And age was pleased, in heats of noon,
To bask beneath its boughs;

The dormouse loved its dangling twigs,
The birds sweet music bore;

It stood a glory in its place,

A blessing evermore.

A little spring had lost its way

Amid the grass and fern,

A passing stranger scooped a well
Where weary men might turn;

He walled it in, and hung with care

A ladle at the brink;

He thought not of the deed he did,

But judged that all might drink.

He paused again, and lo! the well,

By summer never dried,

Had cooled ten thousand parching tongues

And saved a life beside.

Q.No: 97 A little spring had lost its way. Which part of speech is the word ‘its’ in the given line of the poem?

A Noun

B Pronoun
C Verb

D Article

Correct Ans : B

Subject : English Language 02

Passage:
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Read the passage given below and then answer the questions given below the passage.

Maharana Pratap was born in Hindu Rajput family to Udai Singh II of Mewar and Jaiwanta Bai. His younger brothers were Shakti Singh, Vikram Singh and
Jagmal Singh. Pratap also had 2 stepsisters: Chand Kanwar and Man Kanwar. He was married to Ajabde Punwar of Bijolia and he had married 10 other women
and was survived by 17 sons and 5 daughters including Amar Singh I. He belonged to the Royal Family of Mewar. After the death of Udai Singh in 1572, Rani
Dheer Bai wanted her son Jagmal to succeed him but senior courtiers preferred Pratap, as the eldest son, to be their king. The desire of the nobles prevailed.
Udai Singh died in 1572, and Prince Pratap ascended the throne as Maharana Pratap, the 54th ruler of Mewar in the line of the Sisodia Rajputs. Jagmal swore
revenge and left for Ajmer, to join the armies of Akbar, and obtained the town of Jahazpur as a Jagir as a gift in return for his help.

The bloody Siege of Chittorgarh in 1567-1568 had led to the loss of the fertile eastern belt of Mewar to the Mughals. However, the rest of the wooded and hilly
kingdom in the Aravalli range was still under the control of Maharana Pratap. Mughal Emperor Akbar was intent on securing a stable route to Gujarat through
Mewar; when Pratap Singh was crowned king (Maharana) in 1572, Akbar sent a number of envoys, including one by Raja Man Singh of Amer, entreating him to
become a vassal like many other rulers in Rajputana. When Pratap refused to personally submit to Akbar, war became inevitable. The Battle of Haldighati was
fought on 18 June 1576 between Pratap Singh and Mughal forces led by Man Singh I of Amer. The Mughals were victorious and inflicted significant casualties
among the Mewaris but failed to capture the Pratap. The site of the battle was a narrow mountain pass at Haldighati near Gogunda, modern day Rajsamand in
Rajasthan. Pratap Singh fielded a force of around 3000 cavalry and 400 Bhil archers. The Mughals were led by Man Singh of Amber, who commanded an army
numbering around 10,000 men.

Q.No: 98 According to the given passage, who was the 54th ruler of Mewar in the line of the Sisodia Rajputs?

A Vikram Singh
B Shakti Singh
C Maharana Pratap
D Jagmal Singh

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Maharana Pratap was born in Hindu Rajput family to Udai Singh II of Mewar and Jaiwanta Bai. His younger brothers were Shakti Singh, Vikram Singh and
Jagmal Singh. Pratap also had 2 stepsisters: Chand Kanwar and Man Kanwar. He was married to Ajabde Punwar of Bijolia and he had married 10 other women
and was survived by 17 sons and 5 daughters including Amar Singh I. He belonged to the Royal Family of Mewar. After the death of Udai Singh in 1572, Rani
Dheer Bai wanted her son Jagmal to succeed him but senior courtiers preferred Pratap, as the eldest son, to be their king. The desire of the nobles prevailed.
Udai Singh died in 1572, and Prince Pratap ascended the throne as Maharana Pratap, the 54th ruler of Mewar in the line of the Sisodia Rajputs. Jagmal swore
revenge and left for Ajmer, to join the armies of Akbar, and obtained the town of Jahazpur as a Jagir as a gift in return for his help.

The bloody Siege of Chittorgarh in 1567-1568 had led to the loss of the fertile eastern belt of Mewar to the Mughals. However, the rest of the wooded and hilly
kingdom in the Aravalli range was still under the control of Maharana Pratap. Mughal Emperor Akbar was intent on securing a stable route to Gujarat through
Mewar; when Pratap Singh was crowned king (Maharana) in 1572, Akbar sent a number of envoys, including one by Raja Man Singh of Amer, entreating him to
become a vassal like many other rulers in Rajputana. When Pratap refused to personally submit to Akbar, war became inevitable. The Battle of Haldighati was
fought on 18 June 1576 between Pratap Singh and Mughal forces led by Man Singh I of Amer. The Mughals were victorious and inflicted significant casualties
among the Mewaris but failed to capture the Pratap. The site of the battle was a narrow mountain pass at Haldighati near Gogunda, modern day Rajsamand in
Rajasthan. Pratap Singh fielded a force of around 3000 cavalry and 400 Bhil archers. The Mughals were led by Man Singh of Amber, who commanded an army
numbering around 10,000 men.

Q.No: 99 who among the following led Mughal forces in the Battle of Haldighati?

A Shakti Singh
B Jagmal Singh
C Man Singh I
D Jagir Singh

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Maharana Pratap was born in Hindu Rajput family to Udai Singh II of Mewar and Jaiwanta Bai. His younger brothers were Shakti Singh, Vikram Singh and
Jagmal Singh. Pratap also had 2 stepsisters: Chand Kanwar and Man Kanwar. He was married to Ajabde Punwar of Bijolia and he had married 10 other women
and was survived by 17 sons and 5 daughters including Amar Singh I. He belonged to the Royal Family of Mewar. After the death of Udai Singh in 1572, Rani
Dheer Bai wanted her son Jagmal to succeed him but senior courtiers preferred Pratap, as the eldest son, to be their king. The desire of the nobles prevailed.
Udai Singh died in 1572, and Prince Pratap ascended the throne as Maharana Pratap, the 54th ruler of Mewar in the line of the Sisodia Rajputs. Jagmal swore
revenge and left for Ajmer, to join the armies of Akbar, and obtained the town of Jahazpur as a Jagir as a gift in return for his help.
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The bloody Siege of Chittorgarh in 1567-1568 had led to the loss of the fertile eastern belt of Mewar to the Mughals. However, the rest of the wooded and hilly
kingdom in the Aravalli range was still under the control of Maharana Pratap. Mughal Emperor Akbar was intent on securing a stable route to Gujarat through
Mewar; when Pratap Singh was crowned king (Maharana) in 1572, Akbar sent a number of envoys, including one by Raja Man Singh of Amer, entreating him to
become a vassal like many other rulers in Rajputana. When Pratap refused to personally submit to Akbar, war became inevitable. The Battle of Haldighati was
fought on 18 June 1576 between Pratap Singh and Mughal forces led by Man Singh I of Amer. The Mughals were victorious and inflicted significant casualties
among the Mewaris but failed to capture the Pratap. The site of the battle was a narrow mountain pass at Haldighati near Gogunda, modern day Rajsamand in
Rajasthan. Pratap Singh fielded a force of around 3000 cavalry and 400 Bhil archers. The Mughals were led by Man Singh of Amber, who commanded an army
numbering around 10,000 men.

Q.No: 100 The bloody Siege of Chittorgarh had led to which of the following?

A Pratap got married to Ajabde Punwar of Bijolia

B Jagmal succeeded but senior courtiers preferred Pratap

C The loss of the fertile eastern belt of Mewar to the Mughals
D The death of Vikram Singh and Jagmal Singh

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Maharana Pratap was born in Hindu Rajput family to Udai Singh II of Mewar and Jaiwanta Bai. His younger brothers were Shakti Singh, Vikram Singh and
Jagmal Singh. Pratap also had 2 stepsisters: Chand Kanwar and Man Kanwar. He was married to Ajabde Punwar of Bijolia and he had married 10 other women
and was survived by 17 sons and 5 daughters including Amar Singh I. He belonged to the Royal Family of Mewar. After the death of Udai Singh in 1572, Rani
Dheer Bai wanted her son Jagmal to succeed him but senior courtiers preferred Pratap, as the eldest son, to be their king. The desire of the nobles prevailed.
Udai Singh died in 1572, and Prince Pratap ascended the throne as Maharana Pratap, the 54th ruler of Mewar in the line of the Sisodia Rajputs. Jagmal swore
revenge and left for Ajmer, to join the armies of Akbar, and obtained the town of Jahazpur as a Jagir as a gift in return for his help.

The bloody Siege of Chittorgarh in 1567-1568 had led to the loss of the fertile eastern belt of Mewar to the Mughals. However, the rest of the wooded and hilly
kingdom in the Aravalli range was still under the control of Maharana Pratap. Mughal Emperor Akbar was intent on securing a stable route to Gujarat through
Mewar; when Pratap Singh was crowned king (Maharana) in 1572, Akbar sent a number of envoys, including one by Raja Man Singh of Amer, entreating him to
become a vassal like many other rulers in Rajputana. When Pratap refused to personally submit to Akbar, war became inevitable. The Battle of Haldighati was
fought on 18 June 1576 between Pratap Singh and Mughal forces led by Man Singh I of Amer. The Mughals were victorious and inflicted significant casualties
among the Mewaris but failed to capture the Pratap. The site of the battle was a narrow mountain pass at Haldighati near Gogunda, modern day Rajsamand in
Rajasthan. Pratap Singh fielded a force of around 3000 cavalry and 400 Bhil archers. The Mughals were led by Man Singh of Amber, who commanded an army
numbering around 10,000 men.

Q.No: 101 Which of the following is NOT correct here according to the given passage?

A Maharana Pratap belonged to the Royal Family of Mewar

B Akbar sent a number of envoys, including one by Raja Man Singh of Amer

C The site of the battle was a narrow mountain pass at Haldighati near Gogunda
D Shakti Singh swore revenge and left for Ajmer, to join the armies of Akbar

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Maharana Pratap was born in Hindu Rajput family to Udai Singh II of Mewar and Jaiwanta Bai. His younger brothers were Shakti Singh, Vikram Singh and
Jagmal Singh. Pratap also had 2 stepsisters: Chand Kanwar and Man Kanwar. He was married to Ajabde Punwar of Bijolia and he had married 10 other women
and was survived by 17 sons and 5 daughters including Amar Singh I. He belonged to the Royal Family of Mewar. After the death of Udai Singh in 1572, Rani
Dheer Bai wanted her son Jagmal to succeed him but senior courtiers preferred Pratap, as the eldest son, to be their king. The desire of the nobles prevailed.
Udai Singh died in 1572, and Prince Pratap ascended the throne as Maharana Pratap, the 54th ruler of Mewar in the line of the Sisodia Rajputs. Jagmal swore
revenge and left for Ajmer, to join the armies of Akbar, and obtained the town of Jahazpur as a Jagir as a gift in return for his help.

The bloody Siege of Chittorgarh in 1567-1568 had led to the loss of the fertile eastern belt of Mewar to the Mughals. However, the rest of the wooded and hilly
kingdom in the Aravalli range was still under the control of Maharana Pratap. Mughal Emperor Akbar was intent on securing a stable route to Gujarat through
Mewar; when Pratap Singh was crowned king (Maharana) in 1572, Akbar sent a number of envoys, including one by Raja Man Singh of Amer, entreating him to
become a vassal like many other rulers in Rajputana. When Pratap refused to personally submit to Akbar, war became inevitable. The Battle of Haldighati was
fought on 18 June 1576 between Pratap Singh and Mughal forces led by Man Singh I of Amer. The Mughals were victorious and inflicted significant casualties
among the Mewaris but failed to capture the Pratap. The site of the battle was a narrow mountain pass at Haldighati near Gogunda, modern day Rajsamand in
Rajasthan. Pratap Singh fielded a force of around 3000 cavalry and 400 Bhil archers. The Mughals were led by Man Singh of Amber, who commanded an army
numbering around 10,000 men.
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Q.No: 102 ‘The desire of the nobles prevailed’. Which of the following is nearest in meaning to the word ‘prevail’?

A yield

B forfeit

Cc surrender
D succeed

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Maharana Pratap was born in Hindu Rajput family to Udai Singh II of Mewar and Jaiwanta Bai. His younger brothers were Shakti Singh, Vikram Singh and
Jagmal Singh. Pratap also had 2 stepsisters: Chand Kanwar and Man Kanwar. He was married to Ajabde Punwar of Bijolia and he had married 10 other women
and was survived by 17 sons and 5 daughters including Amar Singh I. He belonged to the Royal Family of Mewar. After the death of Udai Singh in 1572, Rani
Dheer Bai wanted her son Jagmal to succeed him but senior courtiers preferred Pratap, as the eldest son, to be their king. The desire of the nobles prevailed.
Udai Singh died in 1572, and Prince Pratap ascended the throne as Maharana Pratap, the 54th ruler of Mewar in the line of the Sisodia Rajputs. Jagmal swore
revenge and left for Ajmer, to join the armies of Akbar, and obtained the town of Jahazpur as a Jagir as a gift in return for his help.

The bloody Siege of Chittorgarh in 1567-1568 had led to the loss of the fertile eastern belt of Mewar to the Mughals. However, the rest of the wooded and hilly
kingdom in the Aravalli range was still under the control of Maharana Pratap. Mughal Emperor Akbar was intent on securing a stable route to Gujarat through
Mewar; when Pratap Singh was crowned king (Maharana) in 1572, Akbar sent a number of envoys, including one by Raja Man Singh of Amer, entreating him to
become a vassal like many other rulers in Rajputana. When Pratap refused to personally submit to Akbar, war became inevitable. The Battle of Haldighati was
fought on 18 June 1576 between Pratap Singh and Mughal forces led by Man Singh I of Amer. The Mughals were victorious and inflicted significant casualties
among the Mewaris but failed to capture the Pratap. The site of the battle was a narrow mountain pass at Haldighati near Gogunda, modern day Rajsamand in
Rajasthan. Pratap Singh fielded a force of around 3000 cavalry and 400 Bhil archers. The Mughals were led by Man Singh of Amber, who commanded an army
numbering around 10,000 men.

Q.No: 103 ‘War became inevitable’. Which of the following is opposite in meaning to the word ‘inevitable’ in the given line of the passage?

A avoidable

B binding

C determined
D undeniable

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Maharana Pratap was born in Hindu Rajput family to Udai Singh II of Mewar and Jaiwanta Bai. His younger brothers were Shakti Singh, Vikram Singh and
Jagmal Singh. Pratap also had 2 stepsisters: Chand Kanwar and Man Kanwar. He was married to Ajabde Punwar of Bijolia and he had married 10 other women
and was survived by 17 sons and 5 daughters including Amar Singh I. He belonged to the Royal Family of Mewar. After the death of Udai Singh in 1572, Rani
Dheer Bai wanted her son Jagmal to succeed him but senior courtiers preferred Pratap, as the eldest son, to be their king. The desire of the nobles prevailed.
Udai Singh died in 1572, and Prince Pratap ascended the throne as Maharana Pratap, the 54th ruler of Mewar in the line of the Sisodia Rajputs. Jagmal swore
revenge and left for Ajmer, to join the armies of Akbar, and obtained the town of Jahazpur as a Jagir as a gift in return for his help.

The bloody Siege of Chittorgarh in 1567-1568 had led to the loss of the fertile eastern belt of Mewar to the Mughals. However, the rest of the wooded and hilly
kingdom in the Aravalli range was still under the control of Maharana Pratap. Mughal Emperor Akbar was intent on securing a stable route to Gujarat through
Mewar; when Pratap Singh was crowned king (Maharana) in 1572, Akbar sent a number of envoys, including one by Raja Man Singh of Amer, entreating him to
become a vassal like many other rulers in Rajputana. When Pratap refused to personally submit to Akbar, war became inevitable. The Battle of Haldighati was
fought on 18 June 1576 between Pratap Singh and Mughal forces led by Man Singh I of Amer. The Mughals were victorious and inflicted significant casualties
among the Mewaris but failed to capture the Pratap. The site of the battle was a narrow mountain pass at Haldighati near Gogunda, modern day Rajsamand in
Rajasthan. Pratap Singh fielded a force of around 3000 cavalry and 400 Bhil archers. The Mughals were led by Man Singh of Amber, who commanded an army
numbering around 10,000 men.

Q.No: 104 ‘The Mughals were victorious and inflicted significant casualties among the Mewaris’. Which part of speech is the word *among’ in the given line of
the passage?

A determiner
B conjunction
C adverb
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D preposition

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Maharana Pratap was born in Hindu Rajput family to Udai Singh II of Mewar and Jaiwanta Bai. His younger brothers were Shakti Singh, Vikram Singh and
Jagmal Singh. Pratap also had 2 stepsisters: Chand Kanwar and Man Kanwar. He was married to Ajabde Punwar of Bijolia and he had married 10 other women
and was survived by 17 sons and 5 daughters including Amar Singh I. He belonged to the Royal Family of Mewar. After the death of Udai Singh in 1572, Rani
Dheer Bai wanted her son Jagmal to succeed him but senior courtiers preferred Pratap, as the eldest son, to be their king. The desire of the nobles prevailed.
Udai Singh died in 1572, and Prince Pratap ascended the throne as Maharana Pratap, the 54th ruler of Mewar in the line of the Sisodia Rajputs. Jagmal swore
revenge and left for Ajmer, to join the armies of Akbar, and obtained the town of Jahazpur as a Jagir as a gift in return for his help.

The bloody Siege of Chittorgarh in 1567-1568 had led to the loss of the fertile eastern belt of Mewar to the Mughals. However, the rest of the wooded and hilly
kingdom in the Aravalli range was still under the control of Maharana Pratap. Mughal Emperor Akbar was intent on securing a stable route to Gujarat through
Mewar; when Pratap Singh was crowned king (Maharana) in 1572, Akbar sent a number of envoys, including one by Raja Man Singh of Amer, entreating him to
become a vassal like many other rulers in Rajputana. When Pratap refused to personally submit to Akbar, war became inevitable. The Battle of Haldighati was
fought on 18 June 1576 between Pratap Singh and Mughal forces led by Man Singh I of Amer. The Mughals were victorious and inflicted significant casualties
among the Mewaris but failed to capture the Pratap. The site of the battle was a narrow mountain pass at Haldighati near Gogunda, modern day Rajsamand in
Rajasthan. Pratap Singh fielded a force of around 3000 cavalry and 400 Bhil archers. The Mughals were led by Man Singh of Amber, who commanded an army
numbering around 10,000 men.

Q.No: 105 ‘Pratap refused to personally submit to Akbar’. Which part of speech is the word ‘personally’ in the given line of the passage?

A predeterminer
B intensifier

C adverb

D adjective

Correct Ans : C

Subject : English Language 02

Q.No: 106 In which of the following, grammar cum translation method can be best used?

A mother tongue

B second language

C first language

D all of the given options

Correct Ans : B

Subject : English Language 02

Q.No: 107 Which among the following teaching method is also known as natural method?

A bilingual method

B grammar translation method
Cc translation method

D direct method

Correct Ans : D

Subject : English Language 02
Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

It's very to learn to ride a skateboard, but you never forget how.
A easy
B official
C difficulty
D tricky
Correct Ans : D

Subject : English Language 02
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Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

All these books are structured.
A close
B similarly
Cc brief
D simple

Correct Ans : B

Subject : English Language 02

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

Without surgery, this animal will die slowly and
A selfishly
B timely
C never
D painfully
Correct Ans : D

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

I presume that they're not coming, they haven't replied to the invitation.
A whether
B since
C instead
D despite

Correct Ans : B

Subject : English Language 02

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

We are going to crash! Watch

A on
B out
C in
D of

Correct Ans : B

Subject : English Language 02

Q.No: 113 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

The road ahead was flat and
A pure
B safety
C smooth
D safely

Correct Ans : C

Subject : English Language 02
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Q.No: 114 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

We'll wait a longer and then I'll phone them.
A much
B little
Cc less
D least

Correct Ans : B

Subject : English Language 02

Q.No: 115 Language input comes in which of the following forms —

A Teaching talk

B Listening activities

C Reading

D all of the given options

Correct Ans : D

Subject : English Language 02

Q.No: 116 Which one of the following is not a one-way communication?

A Radio

B Television

C Speeches

D Telephone call

Correct Ans : D

Subject : English Language 02

Q.No: 117 Which of the following is associated with an inclusive classroom?

A competition
B target

C money

D collaboration

Correct Ans : D

Subject : English Language 02

Q.No: 118 In a classroom, a teacher instructs the students to use words in a sequence to form a sentence. Which component of language did the teacher opt?

A Phonetics

B Semantics
C Syntax

D Morphology

Correct Ans : C

Subject : English Language 02

Q.No: 119 Which of the following is not a characteristic of English Language, in Indian context?

A English language is dynamic in nature, i.e., it constantly keeps changing.

B English language facilitates communication even among non-native English speakers.

C English language comes to a child naturally, i.e., it need not be learned or is not an acquired behavior.
D English language is heterogenous in nature, i.e,, it consists of words from numerous other languages.

Correct Ans : C

Subject : English Language 02
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Q.No: 120 A teacher asks her students to write a paragraph detailing their visit to a place. What type of composition the students will write?

A Persuasive writing

B Narrative writing

C Descriptive writing

D Argumentative writing

Correct Ans : C

Subject : English Language 02

Q.No: 121 Meaning of the socialization in the context of education -

2473738
fien & e & wmciawo o1 o § -
Pursuance social norms
A
[T AMGS &1 SIFeR0
Self social norm
B
W & GHING AFGS
Respect in the elders of society
C
TS S HT9WHH
Adjusting to the social environment -
D

ISP aTATERT 1 FHRNT TRl

Correct Ans : D

Subject : Child Developement

Q.No: 122 Community is the smallest territorial group that can embrace all aspects of social life. This definition was given by-
2473814

TYE™ TEY Blet &t g § o aAfie ofiad & et uggsh &) oA I 81 a8 uRkym frea & €2

Davis
A
S
Lundburg
B
qusst
Ross
C
Rt
Bogardusck
D
CIISE:

Correct Ans : A

Subject : Child Developement

Q.No: 123 Which of the following is not a parameter which should be considered when questions are made?
2474294

fafiiad # 98 o9 AFds § B R 9 & 91 & 915 fER T fan s ke

questions should include key elements of the correct answer

w7 Tt IR P T 3(qud Wit G A1y

B questions must get appropriate answers from the learners
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s 1 et SR Rt ¥ sraxg free =nfge

questions should use question words suitable to the answer required

W & 1Y IUGF UHaES eg Well H SUANT 3 ST A1feq

a questions should neither be too hard nor too easy

T 7T 9 SATET B 7 € ST S g =T

Correct Ans : D

Subject : Child Developement

Q.No: 124 Multiple pedagogical techniques, assorted learning material, multiple assessment techniques and varying the complexity and nature of the content
2474347 3re associated with which of the following?

T Jeifdrs ao-ie, Tl Riermor I, 95 Geie adie AR IRl B Sewd iR wefa & e Foatiad § 9 fae wy 99 88 @2

Universal design for learning

A
Rigror 1 < e
Remedial teaching
B
SUARTHSD AT
Differentiated instruction
(o
Qyepd fxn-frdw
Reciprocal teaching
D

TR e

Correct Ans : C

Subject : Child Developement

Q.No: 125 “How do grades differ from marks?” This question belongs to which of the following classes of questions?

2474414
"I, 3l W i B B ¥ ue U Frafeed # A by v & vall @ welftrd @2
divergent

A
ot
analytic

B
faeronee
open-ended

C
3 S
problem-solving

D

THT-g
Correct Ans : B

Subject : Child Developement

Q.No: 126 Because of individual differences students differ in terms of study habits as-
2474585

R 3R F PR BH T B 3] $ AW F 3¢ 81 € -
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A They differ in terms of their interest and attitude about various subjects

3 At fawdi & SR # St ofy ok =R & A § e §

They differ in their attitudes, belief and opinion about studying various things

B

F il it & sremaa & AR F o =fdai, Ry SR & o §

They differ in their approaches and objectives served by studying different things
C

F SET-SfeTT HISH T S FRP U OBV SR I F 31T B ¥

All of the given options
D

fau g ot fawed

Correct Ans : D

Subject : Child Developement

Q.No: 127 According to Valentine *....." term is generally term is generally used to describe children whose behavior or personality in something is seriously
2475437 apnormal

AT F SFER '......" Ueg MHAAR W 3 g BT 9of v & forg weiy foann < & FoeiepT aeR an afcd fanelt i & iR &0 & sy &

Exceptional children

A
STYR T
Backward children
B
fes gra=
Abnormal children
C
S §
Problem children
D

R T g
Correct Ans : D

Subject : Child Developement

Q.No: 128 Externalizing problems are disruptive behaviors that are often a nuisance to other, these are
2475487

i. aggression

ii. hyperactivity

iii. impulsivity

iv. inattention

R T fAUeTPR] SHaER § O 3R GOkl & U TR &1 RO §d €, T E:
i. 3

ii. ffar afssaan

iii. SfTTITRTAT

iv. ATRETRY

i, ii, iii, iv
i, ii, iii, iv

B i, ii, iii
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i, ii, iii

i, ii

i, ii

i, iv

i, iv

Correct Ans : A

Subject : Child Developement

Q.No: 129 1st dose of typhoid vaccine is given during

2476160
ELa Rt Caa e U i % R fan o 31
3 months
A
3 W
5 months
B
5 HeH
5 years
C
5T
6 years
D
6 T

Correct Ans : C

Subject : Child Developement

Q.No: 130 When a teacher praises the learner for correct responses based on some criteria such as time, number of correct responses and so on, it becomes
2476940 5y example of:

Y UF Riee wHY, TE IIRT B Y= 3 S $F AFES! F SMUR W e IR F g Rreneff B i Sd § O 98 T IS0 7 S @ Eaf

Intermittent reinforcement

e GeataRy (SR YWRiAT)

Continuous reinforcement

R gedtarur (dHeigam YmiRiiT)

Shaping and successive approximation

PR 7 AR BN G (AT ik TRlRE smidiagT)

Punishment

el
Correct Ans : A

Subject : Child Developement

Q.No: 131 Responses which are informally found in the species is known as which of the following?
2476974

wonfadt # sFvEIRG U & Ui 1 arelt wfafeart Fafared ¥ @ 58 o 82
A Phylogenetic functions
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T

Ontogenetic functions

B
pfagaeta o
Experience

C
SIHa
Learning

D
S

Correct Ans : A

Subject : Child Developement

Q.No: 132 Which of the following is a negative teacher-related factor of learning for students?

2477038
fofafed & 3 o oEl & R ofvm #1 @ FoRes Riew-dad RS 82
Poor sanitation maintained at home
A
W § T WSl T @l
Social discrimination against girls
B
sl & feems v deua
Conventional and monotonous teaching style
C
IR iR e g et
Family feud at home
D

W R RIS 8T

Correct Ans : C

Subject : Child Developement

Q.No: 133 Development of behaviour proceeds from....
2477508

B C R R AT S garg
General to specific
A
e ¥ fafke
Specific to General
B
faRe & s
indefinite sequence
C
RIECED]
Unpredictable
D

SR
Correct Ans : A
Subject : Child Developement

Q.No: 134 Which of the following is not a characteristic of concept of object permanence?
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2477558
FafifEd & § $H-91 ag RIRE 3 @y 31 kv 76 82

Substance
A

werf

Occupy space
B

RIF U1

Abstract
Cc

ReR

Permanent
D

R

Correct Ans : C

Subject : Child Developement

Q.No: 135 Which of the following acts will NOT amount to truancy?

2477720
1. A child never goes to school but secretly goes to play cards to some place.
2. A child who goes to school, but does not attend classes.

Choose the correct code -

fafafed 7 & o1 9@ fra Reford (zerh) @ 9ot & =1 gefe

1.0 Tt e e Wi A guds I et oie R AT QA S B
2.9% =1 S fJeer S g, A dafl H T8t o 3

T T I -

Only 1

Fad 1

Only 2

Fad 2
Both 1 and 2

Ml 1 3R 2

Neither 1 nor 2

Tar1 RIS 2

Correct Ans : D

Subject : Child Developement

Q.No: 136 Severely mentally deficient children are
2478200

i.Educable

ii.Trainable

Choose the correct code

TR U § AAle dioarad e g9
i. Rerofia

ii. Uriefoiig

SEETECE
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A i) only

Fad i)
ii) only
B
Fad ii)
Both i) and ii)
C
2Fl i) @R i)
Neither i) nor ii)
D

Tdi) T i)
Correct Ans : B

Subject : Child Developement

Q.No: 137 Which of the following is NOT true in context to the Epstein’s study on the relationship between family and school?
2478992

IRAR R Tpa & fiT Gda R T $ oregud & oo # FaRied & 91w wdt 72 2

Greater participation was shown by the children who came from the homes that were more democratic.

A
P APpaife W § M ot =1 gR i HRfieR e s
It was reported that in those families where democratic pattern was followed, children showed greater degree of freedom.
B
Ig o a1 o7 o o uRart & diwditie ufy @1 urer fowar S an, Jet = 3 Sifie adAar e
It was reported that in those families where democratic pattern was followed, their attitude towards the school was positive.
C
g Jarl 11 5 o uRart § diedites gsia &1 urer 541 [/ o1, 981 W69 & Al ST SRS SHRIAS ATl
The grades of such children belonging from families where democratic pattern was followed, was low.
D

g, 37 uRar! ¥ Yaftia U 5=t & s wel Apdiiae de ol uraq foar 7w o, g um
Correct Ans : D

Subject : Child Developement

Q.No: 138 Who among the following defined socialisation as, “Socialisation refers to the process which transforms a quite helpless human infant into a self-
2479052 zyare, knowledgeable person who is skilled in the ways of their society’s culture”.

FrofaRed & § foum gAmieR0 31 a8 uRyTeT §, "IHTSiaRr 39 Uihar @ Yalid SRl § Sl Th HI6] SHg™ HFd RIY &1 6 HId-S9es, SHeR Afk § 96d
T S T TS B GBI b afit F oI B

Anthony Giddens

A
TR Sy
Peter Worsley
B
Hex afdf
Tony Bilton
C
o fawe
Ivan Paviov
D

ECIE R IERIG]
Correct Ans : A
Subject : Child Developement
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Q.No: 139 Under Pavlov’s theory, the Salivation was?

2479205
e & Rigid & e, @R @
Unconditioned stimulus
A
SR I
Unconditioned response
B
SFgf srgfeear
Conditioned stimulus
C
IR SEH
Conditioned response
D

e Sy

Correct Ans : B

Subject : Child Developement

Q.No: 140 Rabindranath Tagore’s idea was governed principally by the idea of

2479553
sy R &1 faaR g ¥ faaR & =fya ar
Universalism
A
e
Cultural relativism
B
TRPS AEEE
Particularism
C
Sifar srRadt
Utilitarianism
D

Iudrfar

Correct Ans : A

Subject : Child Developement

Q.No: 141 According to the theory of Raymond Cattell, what happens to the crystalised Intelligence with the increasing age?
2479823

Wig Hea & Rigid ¥ uR, Tgdl SU & O o 93 (reamsss Sefomiw) o1 o gar 82

Increases
A
ol @
Declines
B
fiRmae ot §
Remains stable
c
RR w@d
D Cannot be determined
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i 7 famam 1 war

Correct Ans : A

Subject : Child Developement

Q.No: 142 Bandura described pride, satisfaction and a sense of accomplishment as ---?

2479876
g A 7, A iR RS B Wi B --- F wu & aftfa frar g2
Extrinsic Reinforcement
A
M6 GediaRu
Intrinsic Reinforcement
B
SHiaRk® Gediavur
External factors
C
e PRE
Internal factors
D

R Taed
Correct Ans : B

Subject : Child Developement

Q.No: 143 Which of the following approach to learning is associated with rewards and incentives?

2479995
i & fog Faffed # i @ eyl SR dide 3 93T 82
Behaviourist Approach
A
SEGRATE! ERHIT
Humanistic Approach
B
HEdETS! 2o
Cognitive Approach
C
YIS €I
Socio-cultural Approach
D

TIRF-TRG IS PP
Correct Ans : A

Subject : Child Developement

Q.No: 144 Which of the following aspect of an innate instinct is related to action or application?

2480069
S g o Feiia # 3 o w1 v e o1 sy § et 82
Interactive aspect
A
HaTeTHD 95,
Cognitive aspect
B
TS T,
C Affective aspect
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TR U,

Conative aspect

HDBRIHD U]
Correct Ans : D

Subject : Child Developement

Q.No: 145 Which among the following theory is defined as “A theory of mass communication”?

2480123
frofafea # 4 fru Rigid o1 oar & Rigiar $ S0 § el o w32
Social difference theory
A
e SR Risid
Individual difference theory
B
fdT SieR Rigia
Moral difference theory
C
e SR R
Cognitive difference theory
D

. o R
Correct Ans : B

Subject : Child Developement

Q.No: 146 Name the act which is considered to be comprehensive and aims to provide equal opportunities to persons with disabilities in India.
2480134

39 SHfTTH F1 AW a3 R TaeRh SIS A Sl ¢ SR ST 3exa YR # e safdadl & 9aM SawR UeH &1 §
Rights of Persons with Disabilities Act, 2016

A

e afteR siftfaw, 2016

Rights of Persons with Disabilities Act, 2014
B

feeaimem sifieR ifdfw, 2014

Rights of Persons with Disabilities Act, 2018
C

oo @R siiftem, 2018

Rights of Persons with Disabilities Act, 2013
D

feagire eiffeR sifdfYam, 2013

Correct Ans : A

Subject : Child Developement

Q.No: 147 A teacher should NOT focus on which of the following point while writing on blackboard?
2480186

T Rigie 1 Spars W forgd I FofiEd & 3 f5u g ) om $fiia 76 < afgee

Legible writing

[uTed e
B Use of multicolour chalks in drawings
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@l ® Fght T o wEnT

Straight line on blackboard

wpars W et @

Use of cursive writing

TR ARG BT TN

Correct Ans : D

Subject : Child Developement

Q.No: 148 The intellectual development of which of the following stages of Piaget's theory of mental development is marked by the objectification of time?
2480396

O & Ak erers Rigia & Fofifed § § 5 wu &1 9iE3s e awa & aga gR1 Rifga 82

Period of Sensory-motor adaptation

A
TAR-TRIP SITHe B @iy
Period of symbolic thought
B
Uit fdaR 9t srafy
Period of preconception thought
C
RO AR Ft @l
Period of intuitive thought
D

g [daR 91 safy

Correct Ans : A

Subject : Child Developement

Q.No: 149 A Hearing-Impaired child needs to spend considerable time on learning: -

2480695
T 4qUI-TId S= &) Wi § S T & usd @ -
Writing
A
ikl
Reading
B
el
Language
C
e
Hearing
D
Kji

Correct Ans : C

Subject : Child Developement

Q.No: 150 In the theory of cognitive development, who proposed the four stages of development i.e., sensorimotor, preoperational, concrete operational and
2480906 formal operational period?

Ty e & Rigia ¥, feem Ao & ar o i, Jalks Ui srawn, gd-fsarers, g dfraere stk siid SihaTers S/l o1 TR @T?
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A Lev Vygotsky

A9 Tt

Jean Piaget
B

S st

Lawrence Kohlberg
C

@R Preae

None of the given options
D

fag ¢ el & @ IS

Correct Ans : B

Subject : Child Developement
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